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Door plank of adjustment
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As shown,the screw the screwdriver

points to,ltmoves the door from side
to side,Clockwise rotation is to adjust
the door panel to the middle

The gap between
r panel and side %

dool
panel is too large !

As shown in the figure loosen
the screw pointed by the
screwdriver,push the door
panel in or out and tighten it,
Solve the above roblems

The door
is uneven

o

As shown in the figure,loosen the
screw pointed by thescrewdriver,
push the lower door panel and

hinges up and tighten the screws
push the higher doar panel and
hinges down and tighten the screws.




